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01 TR =SSHSHI 121,000 15,000 106,000
OAtCtel Xt & 121,000, 000& 121,000
S (Muterd e ) 333,083 312,570 20,513
= DN 263,083 242,570 20,513
JISHES 263,083 242,570 20,513
702 JIBHEZ 263,083 242,570 20,513
01 JISdE=3 263,083 242,570 20,513
oM-t2el I3 263,083,000& 263,083
SN 70,000 70,000 0
EHE"OIRILIOH I o =AM 70,000 70,000 0
311 X230l At&ake 70,000 70,000 0
02 Al - FAGNLINSXLS0I RS 70,000 70,000 0
OHZS"0{ILIOt" Tlsh=-4I 70,000, 000& 70,000
WHSA A (oA 22 I} 94,481 68,924 25,557
G229l 22,481 20,324 2,157
ol 2Z | 22,481 20,324 2,157
101 ol t| 18,281 17,324 957
09 RIAHAZZXE=S 18,281 17,324 957
O1200| S0 MEAX™l (1Y) 18,281
=Jl23 41,7803 x1H 2552 10,654
SE O] 10,654,000& *4/12 3,552
o 2HIMAS 10,654,000 *10% 1,066
oRaxFdrY 41,7803 x1H x50 2,173
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SA TR BRI T
B MRS A (YHoE AR L)
chel: ol 2yl (£r9): & 2
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
SRt PN IS 41,780« 1H*20 836
203 HERF&H 4,200 3,000 1,200
04 RBEN2IYRFLAYI 4,200 3,000 1,200
A2 2= 350,000& *12& 4,200
Jl23dl 72,000 48,600 23,400
Jl22Z | 72,000 48,600 23,400
201 Lt 12,000 12,600 A 600
01 At 2eld] 8,000 9,000 A 1,000
OZet=EH| 5,000, 000& 5,000
O=gt| 3,000, 000& 3,000
02 =294l 4,000 3,600 400
O3S 2=Z A 4,000,000& 4,000
202 O4dl 60,000 36,000 24,000
01 3UWAbI 60,000 36,000 24,000
OZ2UH=Z0HI 60,000,000& 60,000
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